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Statement and Assumption
Logical Deduction Presume
↓ ↓ something
L (A(I) (B(l) that we know

-

Check which assumption
statements Rahul will fail in maths.

is true for the

given statement Assumption :

to be true- 1 . Rahul doesn't likes math. like
-

2 . Rahul scored very
low below the

pase margin in all the exams.
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Statement: If the city bus which runs between Ram Nagar and 
Sant Colony is extended to Vasant Vihar, it will be convenient. 
Appeal of residents of Ram Nagar to the city bus company.
Assumptions:
I. The convenience of the city bus company is much more 
important than the needs of the consumers.
II. The city bus company is indifferent to the aspirations of the 
residents of Sant Colony.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: "Fly X airways whenever you decide to go places. 
Our fares are less than train fares." — An advertisement.
Assumptions:
I. People prefer to travel by air when the fares are 
reasonable.
II. The fares of other airlines are costlier than those of X 
airways.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: There has been a remarkable increase in the air 
traffic in India during the past few years.
Assumptions:
I. Traveling by air has become a status symbol now.
II. A large number of people are able to afford air travel now.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: The school authorities have decided to increase the number 
of students in each classroom to seventy from the next academic 
session to bridge the gap between the income and the expenditure to a 
large extent.
Assumptions:
I. The income generated by way of fees of the additional students will be 
sufficient enough to bridge the gap.
II. The school will get all the additional students in each class from the 
next academic session.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: "Two months ago, it was announced that Central 
Government pensioners would get dearness relief with immediate 
effect but till date, banks have not credited the arrears." — A 
statement from a Pensioners' Forum.
Assumptions:
I. Most of the banks normally take care of the pensioners.
II. Two months' time is sufficient for the government machinery to 
move and give effect to pensioners.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: The head of the organization congratulated the entire staff in 
his speech for their sincere effort to bring down the deficit and urged 
them to give their best for attaining a more profitable position in future.
Assumptions:
I. The employees may get motivated and maintain and if possible 
enhance their present level of work.
II. The employees may now relax and slow down in their day-to-day work 
as there is no immediate threat of a huge deficit.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: The government has decided to hold the employers 
responsible for deducting tax at source for all its employees.
Assumptions:
I. The employers may still not arrange to deduct tax at source for 
its employees.
II. The employees may not allow the employers to deduct tax at 
source.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: An advertisement: "Our shoes are for the rich."
Assumptions:
I. Many people like to be labeled as rich.
II. One can't become rich unless one has that brand of shoes.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: The host in one of the popular T.V. programmes 
announced that the channel will contact the viewers between 
9.00 a.m. to 6.00 p.m. on weekdays and the lucky ones will 
be given fabulous prizes.
Assumptions:
I. The people may remain indoors to receive the phone call.
II. More people may start watching the programmes.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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Statement: Monica's advice to Sonia: "Go to Chandigarh 
via Ambala—the best route."
Assumptions:
I. Sonia wants to go to Chandigarh.
II. Monica loves advising everybody.
(a) I is implicit.
(b) II is implicit.
(c) Either I or II is implicit.
(d) Neither I nor II is implicit.
(e) Both are implicit.
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